/-1

K : a,b,c,d: , ol

_ (a+ b+ c+d)
- 2

S

4
K= \/ (s- a)(s- b)(s- ¢)(s- d)- abcdcosz(%) |

( )
K : a,b,c,d:

_ (a+ b+ c+ d)
2

K =V (s- a)(s- b)(s- ¢)(s- d)

S

a,b,c,d m, n

m? = (ab+ cd)(ac+ bhd) n?= (ac+ bd)(ad+ bhc)
- (ad+ bc) ’ - (ab+ cd)

, a,b,c,A,B,C
a’+ b’=c? A?2+B?*=C? aC, cB, bC, cA
(= )



c
b-
c?= 2ab+ (b- a)?
_ 224 c| by a
4 (2)
e, =2 em= b*, cn= a’
a’+ b’=¢c(m+n)= ¢’
7-2
) < >
) < >, <algebra>




8-1

1609 , 10 1619

1604 < >

i

F' F F F
F F



o)

e
X=-p
P F(pv O)
Loix=-p e P(x,y)
PQ L
Q(-p.,y)
PF=¢e(PQ)
V(x- p)i+y’=elx- (- p)l
x*(1- €’) - 2p(1+ e)x+y?=- p’(Ll- &) -----
) e=1 y?=4px ( )
) e 1- €?
1+ €? 2
o 1- & %7 1-ye2: P
X
BN -G S AN S o - S
pl_ez)"'l_ez—p (1-62)
a’ (l+ ez)z h= 1+ e? b? = az(l ez)
1- ¢ ' 1- e*’
X - h2 2
R )
a b
x- h)® §
) e>1 b’=- a’(1- €°) JTL- yb_zz 1( )
7 y x=- p(p>0)
Q¢ D P
r OP =e PQ
6 r=e(p+ rco )
F X>
[ = pe
1- ecosb
\ x=p _ e
1+ ecosb
p= P& .
1+ eco




(8.

6 = 6 =Tt
__be . pe _ _2pe
2a=3 et Tie " 1- e
pe=a(l- €’
_a(l- e _ pe
1+ ecosd 1+ ecosb
) e - 0 r=a
- __ b
) e -1 "= 15 ecod ( )
B N S
p=1 '= "1 cosh
) . 0.999
e=0.999 = "1-0.999cos6
e=0.999
(e~1)
Note ) e=0 -
) e<0 -
) e=l -
) e>1 —
8-2
1636

(Boss)



70

8-3

32




A a B b
A B
4 aaaa 1 bbbb
3 aaab, aaba, abaa, baaa bbba, bbab, babb, abbb
) aabb, abba, abab 5
bbaa, baab, baba
11
A B 11 : 5
, A B

5 O
Note) A B m, n ,
A (m+n)
n S
B (n+1) m
A B s:t

(@ +b) = i}oan x" Ky (x,y#0, n=0 1, 2..)
an



a
X
C a P(x,y) :
P X
CP 0 , A
OCA = AP = as
x = a(@ - sing), y = a(l- cosd)
4 ( )
|
5
'
o 1. |
S I
) ( ) _ !
B(x, y)=0 %
=0, 8=0, 7=0, &’ =0, ' =0, ' =0
12, 34, 56, 45, 61, 23 ,
3 adz+ k o' B ' =0 k 9 12,3456,P,QR
6 3
3 3
3x 2=6
0 ,aBy+ k a' By = ¢o



<8.

3 , ¢ 2 6 1
o7+ k a'B' =0 9 1,2 3,45/6,P,Q R
=0 1,2,3,456 6
PQR 6=0

400
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9-2

15901

9-3

1637
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0-4
1.
2 241
n=1 2241=2 +1 =5 :
n=2 2 2°41=0" +1 = 17 :
n=3 2 2°41=0% +1 = 257 :
n=4 2 2'41=2" +1 = 65537 :
n=5 2 2°41=2"* +1 = 4294967297 :

2 2741=2"* +1 = 4294.967,297 = 641x 6700417

) p=5

1736

1997

n=

6

a=2

20

27

1994
10

a® '-1=15=3x 5

10 6

af -1

- 11 -
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9-5

x, x2 x*
x2 x* , X
DB BC A C
. BE
E BAC «» BDE
c BA=1, BC= a, BD=b, BE=x
l:a=Db:Xx
5 x =ab
D A ‘ _
1 s X =

Q
(X21 O) X
f(X, y):0 y (Xl, yl) P
X Q( X2, O) P
(x= X, + y° = (Xq= X, +y, --------
f(x, y)= 0 y y

- 12 -




D= X1 X2
X 5 X 1
) y %= 4x (1, 2 .
(x- x,) +y" = (1- x,)° +4
y x> +2X(2- X,)+ (2X,- 5)=0
D=0 (2- X,)%- (2%X,-5)=0
X,=3
3, 0) (1 2) ,
9-6
< > < > ,
< > < >
9-7
\ \
a(x, y)=0 B(x, y)=0 ,u v X,y
, Ua + vj3=0 a(x, y)=0 B(x,y)=0

- 13 -




9-8 n
1.
) L b H
2. : 1843
3. 1911 ,
n 1832 , n
n
n ?
n ( xq, X5 X ) , n
(point)
2,3 n
2 (x5, x3) (Y1, ¥2) \/(Xl' X2)2+(Y1' Y2)2
3 (X11X21 X3) (Y1:Y27Y3)
VX1 vy + (X ¥o)2+ (X3 ya)°
n (Xll XZI"'IXH) (yll YZ:---xYn)

V(X1 Y2+ (Xo- yo)2+ oot (Xo- ¥y ,)?

) (al aZl---lan) r n
(X1, Xa,oouy Xp)
2 2 2 2
(Xq1- a) "+ (Xp- @)™+ ...+ (x,- ay)"=r

- 14 -



